
U.P. BOARD CLASS 12 MATHEMATICS PAPER 1-2018 

իत्त֒ प्रֈ֧֘  ֎ोर्ड շक्षा 12 չणिֆ प्रև֐ प्रश्न ֌त्र - 2018 

 334 (DX) 

չणिֆ 

 

 (֎֠जչणिֆ, प्रणֆलो֐ णत्रշोिण֐ֆ֑֠ ֍लन ֆևा णनֈे֘ ाեշ ज्֑ाण֐णֆ)  
 नց)         (֌֢िाांշ: 50֐ֆ֠न պण्ց֧ 15 ण :֑֐֚

 

णनֈे֘ ः प्रा֒म्֏ շ֧ 15 ण֐नց ֌֒֠क्षार्ևड֑ों շो प्रश्न ֌त्र ֌ढ़न֧ շ֧ णलए णनर्ाडर֒ֆ ֛।֨ 
Instruction : First 15 minutes are allotted for the candidates to read the question paper. 

 

णनֈे֘ ः (i)  թ֚ प्रश्न-֌त्र ंे֐ շ֡ल ըւ प्रश्न ֛ैं। 
(ii) ֚֏֠ प्रश्न էणन֗ा֑ड ֛ैं। 
(iii) प्रत्֑֧շ प्रश्न շ֧ प्रा֒म्֏ ंे֐ ्֌्टतֆः णल  ᳰֈ֑ा չ֑ा ֛ ֨ᳰշ ի֚շ֧ ᳰշֆन֧  ण्र् ֛ल շ֒न֧ ֛ैं। 
(iv) प्रत्֑֧շ प्रश्न շ֧ էեշ ի֚շ֧ ֚म्֐ ֡ էեᳰշֆ ֛ैं। 
(v) प्रև֐ प्रश्न ֧֚ प्रा֒म्֏ շᳱणजए ն֒ էեणֆ֐ प्रश्न ֆշ շ֒ֆ֧ जाթए।  
(vi) जो प्रश्न न ըֆा ֛ो, ի֚ ֌֒ ֑֚֐ न्टत ֐ֆ շᳱणजए। 
Note : (i) There are in all eight questions in this question paper. 

(ii) All questions are compulsory. 

(iii) In the beginning of each question, the number of parts to be attempted has been 

clearly mentioned. 

(iv) Marks allotted to the questions are indicated against them. 

(v) Start from the first question and proceed to the last one. 

(vi) Do not waste your time over a question you cannot solve. 

 

1. णनम्नणलण ֆ ंे֐ ֚ ֧ᳰշन्֛ीं चा֒  ण्र्ों շो ֛ल շᳱणजए: 
(շ) ի֚ ֗त्֣त շा ֚֠֐շ֒ि ज्ञाֆ շᳱणजए जो ֐ल֢ ण֎न्ֈ ֧֚֡ ֛ोշ֒ जाֆा ֛ ֨ֆևा णज֚շा շ֧न्र (a, b) ֛ैं। 
(1) 

( ) ֌֒֗ल֑ xy 122   շᳱ नाण֏ շ֧ णनֈे֘ ाեշ ն֒ णन֑ֆा շ֧ ֚֠֐շ֒ि ज्ञाֆ շᳱणजए। (1) 

(չ) 








2

1
cos 1  շा ֡֐ख्֑ ֐ान ज्ञाֆ շᳱणजए। 

(պ) ֑ᳰֈ 


















12

21
2,

21

12
yxyx  ֆो x շा ֐ान ज्ञाֆ շᳱणजए। (1) 

(र्.) էणֆ֌֒֗ल֑ 369 22  yx  շ֧ էन֡प्र्և էक्ष, ֚ե֑֡ग्֠֐ էक्ष, իत्շ֧न्रֆा, नाण֏लम्֎ ն֒ नाण֏֑ों շ֧ 
णनֈे֘ ाեշ ज्ञाֆ շᳱणजए। (1) 

 

1. Attempt any four parts of the following : 

(a) Find the equation of a circle passing through the origin and whose centre is (a, b). (1) 

(b) Find the coordinates of focus and equation of directrix of the parabola xy 122  . (1) 
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(c) Find the principal value of 








2

1
cos 1 . (1) 

(d) If 


















12

21
2,

21

12
yxyx  then find the value of x. (1) 

(e) Find the transverse axis, conjugate axis, eccentricity, latus rectum and coordinates of 

foci of the hyperbola 369 22  yx . (1) 

 

2. णनम्नणलण ֆ ंे֐ ֚ ֧ᳰշन्֛ीं चा֒  ण्र्ों շो ֛ल շᳱणजए: 

(շ) ֑ᳰֈ 









73

12
A  ֆևा 










53

21
B  ֆो ण֚द्ध շᳱणजए ᳰշ   '.'' ABAB   (2) 

( ) է֚ण֐շा    4213  xx  շो ֛ल շᳱणजए ֆևा թ֚ ֛ल շो ֚եख्֑ा ֧֒ ा ֌֒ ըल֧ण ֆ շᳱणजए। 
(2) 

(չ) ֑ᳰֈ     ,
6

1tan1tan 11 
 

xx  ֆो ण֚द्ध շᳱणजए ᳰշ 322 x . (2) 

(պ) ֈो ण֎न्ֈओ֡ं A ֆևा B շ֧ णनֈे֘ ाեշ क्र֘֐ः (1, -1, 3) ֆևा (3, 5, 2) ֛ैं। ֑ᳰֈ շोժ ण֎न्ֈ ֡թ֚ प्रշा֒ 
չणֆ֐ान ֛ ֨ᳰշ 222 4KPBPA   ֛ो, ֆो ण֎न्ֈ ֡P շा ण֎न्ֈ֌֡և ज्ञाֆ շᳱणजए। (2) 

(र्.) ի֚ ֈ֠պड֣֗त्त շा ֚֠֐շ֒ि ज्ञाֆ շᳱणजए णज֚շᳱ իत्շ֧न्रֆा ,
3

2
 नाण֏ (3, 4) ֆևा णन֑ֆा 

543  yx  ֛।֨ (2) 

 

2. Attempt any four parts of the following : 

(a) If 









73

12
A  and 










53

21
B , then prove that   '.'' ABAB   (2) 

(b) Solve the inequality  
   4213  xx  and draw this solution on the number line. (2) 

(c) If     ,
6

1tan1tan 11 
 

xx then prove that 322 x  (2) 

(d) Coordinates of two points A and B are (1, -1, 3) and (3, 5, 2) respectively. If any point 

P is moving such that 222 4KPBPA  , then find the locus of point P. (2) 

(e) Find the equation of the ellipse whose eccentricity is 
3

2
, focus (3, 4) and directrix is 

543  yx . (2) 

 

3. णनम्नणलण ֆ ंे֐ ֚ ֧ᳰշन्֛ीं चा֒  ण्र्ों շो ֛ल շᳱणजए:  

(շ) ण֚द्ध շᳱणजए ᳰշ 0

1

1

1

2

2

2







 ज֛ाդ 
2

3

2

1 i
  (2) 

( ) ի֚ էणֆ֌֒֗ल֑ շा ֚֠֐շ֒ि ज्ञाֆ շᳱणजए णज֚շᳱ नाण֏֑ाդ ( 0,5 ) ֆևा էन֡प्र्և էक्ष 8 ֛ैं। 
(2) 
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(չ) ֑ᳰֈ ,2xy   ֣֗त्त xyx 1022   շᳱ एշ ज֠֗ा ֛ो, ֆो ի֚ ֣֗त्त շा ֚֠֐շ֒ि ज्ञाֆ շᳱणजए णज֚շा 
व्या֚ ֑֛ ज֠֗ा ֛।֨ (2) 

(պ) ֑ᳰֈ 









643

521
A , 


















51

12

04

B ֆो AB ֆևा BA ज्ञाֆ շᳱणजए। (2) 

(र्.) ण֚द्ध շᳱणजए ᳰշ: (2) 

  .
4

3
12tan

1
tan 11 












n
n

n
 

 

3. Attempt any four parts of the following : 

(a) Prove that 0

1

1

1

2

2

2







, where 
2

3

2

1 i
 . (2) 

(b) Find the equation of the hyperbola, whose foci are ( 0,5 ) and transverse axis is 8. (2) 

(c) If y = 2x is a chord of circle xyx 1022  , then find the equation of that circle whose 

diameter is this chord. (2) 

(d) If 









643

521
A , 


















51

12

04

B , then find AB and BA. (2) 

(e) Prove that   .
4

3
12tan

1
tan 11 












n
n

n
 (2) 

 

4. णनम्नणलण ֆ ंे֐ ֚ ֧ᳰշन्֛ीं ֆ֠न  ण्र्ों շो ֛ल շᳱणजए:  

(շ) ըव्֢य֛ 






















254

122

321

A  շा ֛֚ ण्र्ज ըव्֢य֛ ज्ञाֆ շᳱणजए ֆևा ण֚द्ध շᳱणजए ᳰշ (֛֚ ण्र्ज 

A) A=A (֛֚ ण्र्ज A)। (3) 

( ) է֚ण֐շा 4x + 3y > 12 շो ըल ֧֑֠ ण֗णर् ֚ ֧֛ल շᳱणजए। (3) 

(չ) ի֚ ֣֗त्त շा ֚֠֐շ֒ि ज्ञाֆ շᳱणजए जो ण֎न्ֈ ֡(2, -1), (1, 2) ए֗ե (8, 9) ֚ ֧֛ोշ֒ जाֆा ֛।֨ (3) 

(պ) ֑ᳰֈ  
zyx

111 coscoscos  ֛ो, ֆो ण֚द्ध շᳱणजए ᳰշ .12222  xyzzyx  (3) 

 

4. Attempt any three parts of the following : 

(a) Find the adjoint matrix of the matrix 























254

122

321

A  and prove that (Adj A) A = A 

(Adj A). (3) 

(b) Solve the inequality 4x + 3y > 12 by graphical method. (3) 

(c) Find the equation of the circle which passes through the points (2, -1), (1, 2) and              

(8, 9). (3) 
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(d) If ,coscoscos 111  
zyx  then prove that .12222  xyzzyx  (3) 

 

5. णनम्नणलण ֆ ंे֐ ֚ ֧ᳰշन्֛ीं ֆ֠न  ण्र्ों շो ֛ल շᳱणजए:  
(շ) ण֗֏ाजन ֢֚त्र շा प्र֑ोչ շ֒շ֧ ण֚द्ध շᳱणजए ᳰշ ण֎न्ֈ ֡(-4, 6, 10), (2, 4, 6) ն֒ (14, 0, -2) ֚ե֒ ֧  
֛ैं। (3) 
( ) ण֚द्ध շᳱणजए ᳰշ: (3) 

bacac

bacbc

bacba

2

2

2





 

        .2
3

cbaa   

(չ) ֑ᳰֈ 









10

01
A  ֆևा 










db

ca
B  ֆो ֈ֘ाडթ֑֧ ᳰշ   111

.   ABBA  (3) 

(պ) ֌֒֗ल֑ xy 162   շᳱ ի֚ ज֠֗ा շा ֚֠֐շ֒ि ज्ञाֆ շᳱणजए णज֚շा ֐ध्֑ ण֎न्ֈ ֡(4,0) ֛।֨ (3) 

 

5. Attempt any three parts of the following : 

(a) Using division formula prove that points (-4, 6, 10), (2, 4, 6) and (14, 0, -2) are 

collinear. (3) 

(b) Prove that : (3) 

bacac

bacbc

bacba

2

2

2





 

 

           .2
3

cbaa   

 

(c) If 









10

01
A  and 










db

ca
B  then show that   111

.   ABBA . (3) 

(d) Find the equation of that chord of parabola ,162
xy   whose middle point is (4, 0). (3) 

 

6. णनम्नणलण ֆ ंे֐ ֚ ֧ᳰշ֚֠ एշ  ण्र् շो ֛ल շᳱणजए: 
(շ) णनम्नणलण ֆ ֚֠֐շ֒िों շो ըव्֢य֛ ण֗णर् ֚ ֧֛ल շᳱणजए: (4) 

52

42

3





zyx

zyx

zyx

 

( ) ի֚ ֈ֠պड֗त्֣त շा ֚֠֐շ֒ि ज्ञाֆ շᳱणजए जो ण֎न्ֈओ֡ं (-3, 1) ֆևा (2, -2) ֚ ֧֛ोշ֒ जाֆा ֛।֨ ի֚շᳱ 
իत्շ֧न्रֆा ֏֠ ज्ञाֆ շᳱणजए। (4) 

 

6. Attempt any one part of the following : (4) 

(a) Solve the following equations by matrix method: 
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52

42

3





zyx

zyx

zyx

 

(b) Find the equation of the ellipse, which passes through the points (-3, 1) and (2, -2), and 

also find its eccentricity. (4) 

 

7. णनम्नणलण ֆ ंे֐ ֚ ֧ᳰշ֚֠ एշ  ण्र् շो ֛ल շᳱणजए:  
(շ) ण֎न्ֈओ֡ं (2, -4, 6) ֆևा (6, 8, -10) շो ण֐लान֧ ֗ाल֠ ֧֒ ा ण्र् շो 3: 4 շ֧ էन֡֌ाֆ ंे֐ էन्ֆֆः ֆևा 
֎ाह्यֆः ण֗֏ाणजֆ շ֒न֧ ֗ाल֧ ण֎न्ֈओ֡ं շ֧ णनֈे֘ ाեշ ज्ञाֆ շᳱणजए। (4) 

( ) णनम्नणलण ֆ ֒֨ण շ է֚ण֐շा णनշा֑ շो ըल֧ ֑֠ ण֗णर् द्वा֒ा ֛ल շᳱणजए: (4) 

0,0,2,2,4  yxxyxyx . 

 

7. Attempt any one part of the following : 

(a) Find the coordinates of the points which divide the line segment joining the points 

)6,4,2(   and (6, 8, -10) in the ratio 3:4 internally and externally. (4) 

(b) Solve the following linear inequalities by graphical method ,2,4  yxyx

0,0,2  yxx  

 

8. णनम्नणलण ֆ ंे֐ ֚ ֧ᳰշ֚֠ एշ  ण्र् շो ֛ल շᳱणजए: 
(շ) क्֧र֒֐ շ֧ णन֑֐ շᳱ ֛֚ा֑ֆा ֚ ֧णनम्नणलण ֆ ֚֠֐շ֒ि णनշा֑ շो ֛ल շᳱणजए: (4) 

12

2

6





zyx

zyx

zyx

 

( ) (1) णनम्नणलण ֆ ֚֠֐շ֒ि շो ֛ल շᳱणजए: (3) 

3
2sinsin 11 

 
xx . 

(2) ֑ᳰֈ .
2

coscos 11 
 

yx  ֆो ण֚द्ध շᳱणजए ᳰշ .sincos 11
yx

   (1) 

 

8. Attempt any one part of the following : 

(a) Solve the following system of equations by Cramer’s rule : (4) 

12

2

6





zyx

zyx

zyx

 

(b) (i) Solve the following equation : 

3
2sinsin 11 

 
xx  (3) 

(ii) If .
2

coscos 11 
 

yx  then prove that .sincos 11
yx

   (1) 
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******* 

  

   

 

 

 

 

 


